SA g EAEED
I BN YHBS(MISN/ES - ISL0Y
Cel: AEREIIB PE Y OSSN XY (S &8)
= - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
GRSES EISDI 31,549,756 32,000,743 A450,987
= 8,003,471
X 2,500,000
D) 13,994,909
= 7,051,376
HAEZMY 2HBS(ASSX/ES - IIELHY) 7,417,436 7,461,191 A43,755
= 2,016,671
D) 3,419,169
= 1,981,596
gd=Febg 25 & dgds=5eE A 3,113,523 3,430,862 A317,339
= 1,919,324
D) 268,200
= 925,999
Hditsay g2 85,179 94,582 A9,403
201 224l 3,000 2,000 1,000
01 At 22l 3,000 2,000 1,000
O EIEAIZ A M 3,000
202 ol 10,000 19,890 A9,890
01 =W ol 10,000 19,890 A9,890
OWdII=EdY g2as =4 10,000
301 2etE &= 4,249 4,762 AB13
B A=RREEAS 4,249 4,762 AB13
OMI=ERRRABLZ 4,249
308 AtXIEHMSOIH 67,930 67,930 0
01 HIXHMBYELS 67,930 67,930 0
OZEIEE - UhEs M2 7= X 67,930
Hganageads 23 6,000 6,000 0
201 2Er2gY| 6,000 6,000 0
01 At22t2lHl 6,000 6,000 0
ondyHaea?d 29 6,000
sr=ded 29 200,000 500,000 300,000
306 EA= 200,000 500,000 300,000
01 Ed= 200,000 500,000 A300,000
omMcgel st=old+ed 29 200,000
JHECEOL HYXZ A (=12) 2,031,268 2,047,428 216,160
= 1,894,324
= 136,944
308 AFAIEHMSO0IA 2,031,268 2,047,428 A 16,160
= 1,894,324
& 136,944
01 HXSHMBMEXS 2,031,268 2,047,428 A 16,160




SN oA E A E D)
M ETD

SHBE(AME=X/2S - HSL0I4)
ool HFEZBIIE 2E U HASSHY X (e @e)
= _ — &4
SA - EY S (BH) - NRAY - BAS Of & o4 St DS
OoM2H4dodE 622,440
= 592,800
T 29,640
OXgusEd L2218 K& 765,000
= 765,000
OMEHEH 22X 643,828
= 536,524
= 107,304
JEHENY DE8=M(=1) 225,000 187,500 37,500
Jl 225,000
308 AtXIEHMSOIH 225,000 187,500 37,500
D) 225,000
01 HIXSHMBMEES 225,000 187,500 37,500
o¥gagZz Y 2 225,000
D) 225,000
ZEOIQN NAUK2 HYAHAIY (2 D) 45,360 57,960 A 12,600
Jl 43,200
S 2,160
308 AtXIHMSOIH 45,360 57,960 212,600
Jl 43,200
S 2,160
01 HIXHMBSELS 45,360 57,960 A12,600
OZE0I2AHYE M XIH 45,360
Jl 43,200
S 2,160
Hgolsigdy =9 344,000 344,000 0
307 212tol & 344,000 344,000 0
10 Al STAEHE 282X 344,000 344,000 0
ONdogigdH 29 344,000
JEHENY Aged & FHEXA 60,000 60,000 0
307 212tol & 60,000 60,000 0
EEETI=TES 60,000 60,000 0
OFFEMN =294 60,000
CICHAACIONEME KA (2D) 30,000 30,000 0
= 25,000
= 5,000
308 AXIHMSO0IH 30,000 30,000 0
= 25,000
= 5,000
01 HXSHHBLEES 30,000 30,000 0
OHAIHCIO HEHE X2 30,000
= 25,000
= 5,000




A HE8EAEIEN
I HEMD FETS(AMISN/ES - HSL0A)
ool HFEZBIIE 2E U HASSHY X (e @e)
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
AMISTAIE 2 =& 86,716 73,392 13,324
307 2I2+0I A 22,000 15,000 7,000
M ARISXAIE E X 22,000 15,000 7,000
Ot AHRISXIAIE SAA SX=E 22,000
308 XHXIHMSOIH 64,716 58,392 6,324
01 UAXSHHBAEES 64,716 58,392 6,324
QAl - & AMBIEXIANE BAL SR 64,716
Odo ASIEN =0 & &€ d 229,910 204,730 25,180
Al W= 30,440 30,440 0
201 2 EH2HH| 10,220 10,220 0
01 At2 22l bl 10,220 10,220 0
OZANWALUE 22 10,220
202 044l 4,870 4,870 0
01 = LHOYI 4,870 4,870 0
O dAsluE - HHEs Fa 4,870
301 Lt al= 15,350 15,350 0
09 SHAtAHIZE A Z 15,350 15,350 0
OZANHUE 23 15,350
HEEMBLIH 43t 3,080 3,080 0
201 2 EH2HH| 1,280 1,280 0
01 AtR2t2ltl 1,280 1,280 0
OZLIEHH=3 23 1,280
301 LetB &S 1,800 1,800 0
09 HAtAHIZE & Z 1,800 1,800 0
OZULIEHHA==3] EItA AdI24 1,800
AL HEXIEX =4 30,000 30,000 0
307 212+0I A 30,000 30,000 0
02 QIS A E X 30,000 30,000 0
OZAMd EXNEA €4 30,000
HEgAE2AHs =8 79,200 73,800 5,400
201 et | 10,300 10,300 0
01 AtR2t2ltl 6,300 6,300 0
OLMMAT L AARIRE 2 5,000
QA Y 2H3F A3 1,300
03 HAH2ZHI 4,000 4,000 0
O/AIS G & Al&Al 4,000
202 044l 3,000 5,000 A2,000
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7,400
7,400

N 220
N 220
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30,000
10,000
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248,404

LH3r
uiEd
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5,500
5,500
53,000
53,000

10,220
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47,190
7,190
7,190

40,000
40,000

3,825,599

Ofl & 24

3,000
3,000
5,500
5,500
2,000
3,500

60,400
60,400
32,400
19,100
13,300
10,000
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3,000
10,000

10,000
10,000
10,000

47,190
7,190
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5,000
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40,000
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AN HEEAEISN
HE: A EMD QA

Cel: OlEeIATS o o (el @)
- _ — Pl
S - CRA(EH) - MRAY - BaS 0] &k o8 St =2
= 58,501
308 KX SHHSOI&E 217,951 203,078 14,873
| 159,450
& 58,501
01 IXEHBAEES 217,951 203,078 14,873
OHHOK HoHAt ESAIE 29 3,548
OXDHOHIIGH A XIZFAlE 2 86,250
| 71,000
= 15,250
O&OHOHTIGH R 2= XI& 19,428
| 16,000
= 3,428
O4SOHOHTIcH &EA 29 108,725
| 72,450
= 36,275
=gy 21208 15,840 17,960 A2,120
201 YEr2 ] 1,700 1,700 0
01 AbS 22|l 1,700 1,700 0
OWAHASIAE SMALE 29 1,700
202 (44l 4,000 6,120 22,120
01 S LHOYI 4,000 6,120 N2,120
OOIHRAUEE AREX 4,000
301 L2 A3 10, 140 10, 140 0
09 HAAHIZ &3 10,140 10, 140 0
OWAAASIALE SMALE 29 3,100
ONdAgY 29 7,040
0421283 13662 Y (=1) 447,404 373,138 74,266
| 210, 164
= 237,240
307 SIZ2t0I A 439,404 373,138 66,266
| 206, 164
& 233,240
10 ALRISEXAIEHE2IHIEX 27,076 27,076 0
O0&2=d3st 1366 EI&23 K& 27,076
A SXAIEE X 412,328 346,062 66,266
o042z ds 1366 29 412,328
| 206, 164
& 206, 164
402 212t 201 A 8,000 0 8,000
| 4,000
& 4,000
01 St Z2AIEE X 8,000 0 8,000
Oz ds 13664 JIsEZ 8,000
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SN OAEAEIIED
U OHTUD YUBS(ASZX/2S - HSL0A)
SHol: MBS U O (e
- _ - PoRE |
SN - SRABH) - MRAY - BES 0] &k o4 St HmE=ET
7 7,000
= 4,000
HEZHAALGEMAL RF(21D) 16,800 16,800 0
o 10,080
= 6,720
307 glz2tol & 6,720 6,720 0
Il 3,360
= 3,360
1A SXAIE E X 6,720 6,720 0
ONEE ARAL BAK 24DT 6,720
o 3,360
= 3,360
308 XHXIHMSOIH 10,080 10,080 0
o 6,720
= 3,360
01 UAXSHHBAEES 10,080 10,080 0
ONEZA U BEAL BAX B4DS 10,080
o 6,720
= 3,360
IIHE - HZA BBSAAY PH(2]) 310,800 1,276,500 34,300
o 310,800
307 212+0I ™ 310,800 1,276,500 34,300
| ,310,800
EEEEES 1,310,800 1,276,500 34,300
OBfttat I MEl X2 310,800
| 310,800
Ols - (i otd XAl 22 (=12) 85,432 84,960 472
| 68,780
= 16,652
201 et A 7,240 7,200 40
Il 3,620
= 3,620
01 At 2t2lbl 7,240 7,200 40
OO0t - IHQIE NHUT) 2 7,240
o 3,620
= 3,620
308 XHXIHMSOIH 78,192 77,760 432
| 65,160
= 13,032
01 UAXSHHBAEES 78,192 77,760 432
OO0IS - Gl&QIE XA 2 78,192
o 65,160
= 13,032
OISOI&QIE TIiQith 2 H4&EH2D) 57,424 60,810 £3,386
2 37,347




SN OAEAEIIED
B O{SFMD YHY
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20,077

307 glztol & 31,520 31,520 0
15,760
15,760

SRl

MBI SEXMBEE 31,520 31,520 0

OX<g HtMEZZ ) =2 31,520
15,760
15,760

H0

Mo

308 XXM S0l S 25,904 29,290 23,386
21,587
4,317

Mo

01 UAXHMB L EXS 25,904 29,290 A3,386
X ME 25,904

21,587
4,317

Mo

ZATHAE =HXAAMSE (=22) 31,564 30,820 744
21,053
10,511

S

H

308 KtX
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267,236

H

308 KtX

= E=JURS 944,560 906,615 37,945

Il 686,874
257,686

H

EINEEE 944,560 906,615 37,945
2 DK BEAE SY(RHAH) 21,288

HagL 2Y 322,650
215, 100
107,550
OJ}FEL - 42 SHYEL 29 171,582
| 114,383
57, 194
ONFZALHN BEAE 29 406,040
| 334,386
71,654
ONFEALMK BBAL 42 MHY| 23,000
| 23,000

H ups
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SN OAEAEIIED
gﬂ: O:I/\-|X-IiHE+ OF A

SYMY SHES(MASN/ES - IHFL0Y)
Rl MEedES 2 oY (&2 dd)
- PSIE
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
403 MRISHSA201H 28,650 0 28,650
D) 19,100
T 9,550
01 HXSMA2E xR 28,650 0 28,650
OJMNEEZHAES AL JIs:EY 28,650
D) 19,100
S 9,550
SEAMNEs U NHRESAE SYNA(2D) 336,729 329,242 7,487
D) 228,401
= 108,328
308 AtXIEHMSOIH 336,729 329,242 7,487
D) 228,401
= 108,328
01 IXSHMBSEES 336,729 329,242 7,487
ONE=y - 4= SEYEL 29 (NH) 16,672
O&ZE™ TaHA ESAIE 2 (XHA) 3,550
O8E54dEL 29 215,100
7l 143,400
& 71,700
O4d=4UoiAt ESAE 28 92,969
7l 76,563
& 16,406
O ==Ll A 2SAIE Hie==X &b 8,438
7l 8,438
IIHZAWGA XIRF=T208 L o2l (2 169,116 158,959 10,157
2)
D) 149,850
= 19,266
308 AtXIHMSOIH 169,116 158,959 10,157
D) 149,850
= 19,266
01 HIXHMBSELS 169,116 158,959 10,157
QIIEZHIUMA Xgs22 0 118,500
D) 105,000
= 13,500
O@Jr8==1loi i 2=l 38,371
D) 34,000
= 4,371
OQIIE3=Z=H Ui APy A& 12,245
D) 10,850
= 1,395
=AM USs=T208 L o2H N)(2D 102,756 108,068 25,312
)
7l 91,341
= 11,415
308 AtXIHMSOIH 102,756 108,068 Ab,312




SN OAEAEIIED
gﬂ: O:I/\-|X-IiHE+ OF A

Cel: OlEeIATS o o CLEED
o - — Al L=
SA B ER(S) - MRAE - BaS Of &r e HIDE

Jl 91,341
= 11,415

01 HIXSHMBMEXS 102,756 108,068 Nb,312
OE=Z=HIolA Xe=s22 1 42,434
D) 37,600
T 4,834
Od=4Iahi it 2=H| 57,769
D) 51,188
T 6,581
OossHE N2 € g24E,Xg 2,553
D) 2,553

JHEEY - A= JioiA BE - ASE208(=201) 104,017 95,880 8,137
Jl 92,167
= 11,850

308 AXIHMSOIH 104,017 95,880 8,137
Jl 92,167
= 11,850

01 HIXHMBYELS 104,017 95,880 8,137
OJNE=EZHIolA WE - ASZ2 0 53,852
Il 47,717
= 6,135
Od=Z=Ito At wd - N2 ]E 50,165
Jl 44,450
= 5,715

ZHUol ol=0d 25(=1) 124,960 122,769 2,191
Jl 102,909
S 22,051

308 AXIHMSO0IH 124,960 122,769 2,191
Jl 102,909
S 22,051

01 HIXHMBYELS 124,960 122,769 2,191
O=ZIloll 01F0d 2E5A4 XA 124,960
Jl 102,909
S 22,051

0N OFE, AW SN (2D) 40,000 40,000 0
= 40,000

307 21z2tol A 40,000 40,000 0
= 40,000

N ARISXIAMEE X 40,000 40,000 0
OFO0 Ots, #AHE HoA W= 40,000
= 40,000

Togus NEXNAJ2 28(=1) 40,000 0 40,000
= 20,000
S 20,000

307 212tol & 40,000 0 40,000
= 20,000




2
o ox
0 —v—
oln
kO||
F&
o
g
It
e
2

0x

(&4

- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
= 20,000
M ARISEXAIE E = 40,000 0 40,000
o=Fgugu=s XNIFX2I|& 2Z 40,000
= 20,000
< 20,000
Ch2st 22018 N (MIEX/ES - IEL0Y) 14,010,893 14,450,695 A439,802
= 5,594,000
| 6,302,393
= 2,114,500
AHIE Z3h =4 14,010,893 14,450,695 A439,802
= 5,594,000
| 6,302,393
< 2,114,500
ZE2018IItE Z20d 29 X2 17,300 21,130 A3,830
202 044l 6,500 10,330 A3,830
01 =LHOYI 6,500 10,330 A3,830
OZ=018XItE XE = 6,500
308 At XISHHSOIH 10,800 10,800 0
01 IXESHHMBLEXS 10,800 10,800 0
OZ=0I8Xts =208 24 10,800
C2st & A28 X& WE - 29 3,100 3,133 A33
201 2 EH2HH| 3,100 3,133 A33
01 AFR 22l bl 3,100 3,133 A33
Oott2st & HAHE X2 UWERHZ 25 29 3,100
HdZ=0I8X XtelMblA K& 30,000 30,000 0
307 2I2+0I A 30,000 30,000 0
AR SXAIEE X 30,000 30,000 0
OWAZE0ICT A=A 24 WK 30,000
IEX S (=1) 180,000 179,400 600
= 150,000
T 30,000
308 AtXIHHSOIH 180,000 179,400 600
= 150,000
& 30,000
01 IXEHBAEES 180,000 179,400 600
OF A4 IEXH 180,000
= 150,000
T 30,000
H20E L U2SIISXNE A (213) 1,034,246 635,088 399, 158
| 867,205
T 167,041
308 AtXIHHSOIH 1,034,246 635,088 399, 158




AN HEEAEISN
A 28 22018 XN (M EX/ES - HELHE
thel: HE8IHE 23 4 (el &)
- _ — Pl
S - CRA(EH) - MRAY - BaS 0] &k o8 St =2
Il 867,205
= 167,041
01 IXESHHMBLEXS 1,034,246 635,088 399, 158
QAZIE - GE3INESXNJAME SEMEIA 658,500
| 548,750
& 109,750
QALIIEXJALYH 2S XA 314,946
| 262,455
& 52,491
O3S=R0tLIsH MY 60,800
| 56,000
& 4,800
OLoIS S EAIE (=1) 5,938,786 6,207,281 A 268,495
= 5,444,000
& 494,786
307 QI2+01 A 117,320 117,320 0
= 82,124
= 35,196
11 AZISXAEEX 117,320 117,320 0
ootolEs HEII 29 117,320
= 82,124
& 35,196
308 At XIHHSOIH 5,821,466 6,089,961 A268,495
= 5,361,876
& 459,590
01 AXSHMBAELS 5,821,466 6,089,961 A268,495
Ool0lEs MHIA XIE 5,821,466
= 5,361,876
& 459,590
HAS R20HE Mot X& 517,038 517,038 0
308 KX SHHSOI&E 517,038 517,038 0
01 IXEHBAEES 517,038 517,038 0
ONAS BHERIHY MO XY 517,038
SHRE2IIEIEH wsHl K& 155,540 165,540 0
308 At XISHHMSOIH 155,540 165,540 0
01 IXESHBAEES 155,540 155,540 0
OStRR2IEXH W=sHl X& 155,540
SHREIIE Ots2=|Hl S X (=21) 3,150,000 3,141,180 8,820
| 2,800,000
= 350,000
308 KX SHH SOl 3,150,000 3,141,180 8,820
| 2,800,000
& 350,000
01 IXEHBAEES 3,150,000 3,141,180 8,820




SA:

2 O3 H20HE NF(MEIEX/ES - B0
& AEIE 23 &4 (&2l &)
_ - PoRE |
SA - ZH - ESA(E) - MRAY - BES 0l st e HIDE2
ORZII=E Ots2=Hl & XZ 3,150,000
Jl 2,800,000
= 350,000
HAUSER TEXE Arg(=1) 113,000 115,198 A2,198
Jl 81,000
= 32,000
307 2I2+0I A 50,000 50,000 0
Il 25,000
= 25,000
" AMSISIIAMSEE 50,000 50,000 0
Oll22®X XA 24 50,000
Jl 25,000
= 25,000
308 XtXIEHMS0IH 63,000 65,198 A2,198
Jl 56,000
= 7,000
01 IXESHBAEES 63,000 65,198 A2,198
OFxE SRI2NE X& 63,000
Jl 56,000
< 7,000
SIRRIIESIIAIE X2(=21) 12,000 39,800 A27,800
Jl 10,000
< 2,000
308 XtXIEHMS0IH 12,000 12,000 0
Jl 10,000
= 2,000
01 UAXSHHBAEES 12,000 12,000 0
OYaXt & - X=X 12,000
Jl 10,000
< 2,000
NAHRI Y JIS&HAL XI& 30,000 30,000 0
307 212+0I A 30,000 30,000 0
1M ARISXAIE E X 30,000 30,000 0
OAMIAHII 2l JIS&AL XI& 30,000
Ch2shots 8% 2 Hdgs X (=1) 2,813,883 3,324,907 A511,024
Il 2,544,188
o= 269,695
307 glz2tol & 36,064 36,064 0
| 25,245
o= 10,819
1M ARISXAIE E X 36,064 36,064 0
OCIZ2IIEXNJAMEH HEHH 23 36,064
Il 25,245
o= 10,819
308 XHXIHMSOIH 2,777,819 3,288,843 A511,024




SA g 3aEED
3 25 AANY N (MEI=X/ES - HSL0I)
el AN E 23 x4 (&2 dd)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
Jl 2,518,943
& 258,876
01 HIXSHMBMEXS 2,777,819 3,288,843 A511,024
OL=2sIEXNAHEH 238 K& 756,324
D) 630,270
= 126,054
OCLI2=tItE Atell2tel Al 59,850
D) 59,850
OUZ=IE dEUSAY 914,622
b] 842,415
= 72,207
OU =S 0150 Jt=ad x4 63,244
7l 58,251
= 4,993
Ot==ttE dog=eXd 395,123
7l 363,929
= 31,194
OLESIHE SHANEI A 309,415
7l 284,987
& 24,428
Qgt=0us 29 279,241
7l 279,241
ChE3HE Al S8 XI# 16,000 51,000 35,000
201 224l 1,000 2,000 1,000
01 At 22l 1,000 2,000 21,000
Ol=Zs It =R Y 23 1,000
301 LN = 15,000 14,000 1,000
09 BANAHIE & 15,000 14,000 1,000
OUEsIE =UHREA Y 15,000
Ol &= FaE SE(MSEN/ =0l - F4H) 10,083,422 10,049,657 33,765
= 392,800
X 2,500,000
D) 4,273,347
= 2,917,275
dad 54 Z2)H 28 2,011,590 1,884,040 127,550
= 345,800
D) 509,320
= 1,156,470
FAESN LB XX 22,700 3,700 19,000
201 224l 13,700 3,700 10,000
01 At 22l 13,700 3,700 10,000
OBAHRHUBIARET 3,700
OXgA2HAHE AYA 10,000
202 o4l 9,000 0 9,000
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